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1. The mass of a metal cube is 5·74 g 
and its volume is 1·2 em 3 . Then its 
density expressed up to appropriate 
significant ligures will be 

(a) 4·8 g em - 3 

(b) 4·78 g em - 3 

(c) 4·783 g em -3 

(d) 5·0 g em -3 

2 . The displacement of a particle in 
simple harmonic motion in one time 
period is 

(a) A 

(b) 2A 

(c) 4 A 

(d) 0 

where A is the amplit ude. 

3. How will coefficient of friction change 
if the normal reaction is halved? 

(a) Doubled 

(b) Halved 

(c) Unchanged 

(d) Cann ot be predicted 
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4 . A car accelerates from rest to a speed 
of 10 mf s . Let the energy spent be 
B. If we accelerate t he speed of the 
car from 10 m/s to 20 m/s. the 
energy spent will be 

(a) E 

(b) 2E 

(c) 3E 

(d) 4 E 

5. A boy desires to hit a bird on the 
ground from a point at a horizontal 
d istance of I 00 m. If the gun can 
impart a velocity of 500 m/s to the 
bullet, at what height above the 
bird must he aim his gun in order 
to h it it (g = 10 m/s2)? 

(a) 10 em 

(b) 20 em 

(c) 50 em 

{d) 100 em 

6 . A car accelerates at 5 m s -z and then 

retards to rest at 3 m s - 2• Tite 

maximum velocity of the car is 
30 m/s. The dista nct1 covered by 
the ca r is 

(a} 150 m 

(b) 240 m 

(c) 300 m 

(d) 360m 
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7 . A bullet after firing from a gun goes 
through a plank of thickness h and 
changes its velocity from u to v. The 
force of resistance is proportional 
to square of velocity. The time of 
motion of the bullet in the plank is 
proportional to 

(a} (u - t-iu - 2 

(b} (u - t-jv-2 

(c) (u - vj(uu) - 1 

(d} (u 2 - u2 )(uv) - 2 

8 . A s atellite is shot vertically upward 
from the surface of the Earth of 
rad1us R. If v is the escape velocity 
from the surface of the Earth , then 
a t what distance from the centre of 
the Earth will its speed be v/3? 

(a/ 3R 

(b) /3R 

lc} 2Rf 3 

{d) 9R 

9 . A stmple pendulum is taken at a 
place where its separation from the 
Earth 's surface is equal to the 
radius of the Earth. Then the time 
peri od of small oscillations of the 
pendulum (with string length of 
l ·O m} is given by 

(a) I s 

(b} 2 s 

(C/ 4 s 

(d/ 0·5 s 

(Take g = n 2 m js2 ) 

P-TSB-N- QIT / 43A 3 

10. A particle of mass m IS at x = 0 with 
velocity v = u in the x·direction at 
t ~ 0. It is subjected to a friction 
force - bu. where b is a positive 
constant. The posit ion of t he 
particle at t -'> ~ is 

{a) mu I b 

{b) tJ f mb 

{c) 2mu f b 

(d) muf2b 

11. A piece of ice of volume V m 3 and 

density 900 kgjm 3 is dropped into 
water. What is the force (in newton) 

with which the ice should be 
pushed down so ~hat it is totally 

under water (9 = 10 m s-2)? 

(a} 900V 

(b) lOOV 

(c) 1900V 

(d) IOOOV 

12. A body kept on a smooth inclined 
plane having inclination l in s will 
remain stationary relative to 
inclined plane if the body is given a 
horizontal acceleration equal to 

(a) g 
~s2 - I 

{b) gs 

Js2 - I 

{c) 
g-[;2:1 

s 

I P.T.O. 
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13. A body of mass m slides down a 
rough plane of inclination u. If'' is 
the coefficient of friction. then the 
acceleration of the body will be 

(o} g sin ex 

(bJ J.l cos (t 

{c) g(sin a -11 cos a) 

(d) g{cos et - ''sin a) 

14. A body floats with one-third volume 
outside when put in water and 
three-fourth of its volume outsade 
when put in another ljquid. The 
density of the liquid is 

(a} 9/4 g cm~1 

(b) 8/3 gem -3 

(c) 3/8 gem - J 

(d) 4/9 g cm -3 

15. Radius of the Earth is twice that of 
the Mars and its weight is ten times 
the weight of the Mars. An object 
weighing 100 kg on the Earth will 
weigh how much on the M<~rs? 

(a) 50 kg 

(b) 40 kg 

(c) 30 kg 

(d) 20 kg 

P- TSB-N-QIT / 43A 4 

16. Which of the following are correct? 

A static fluid implies that 

I. there wiU not be any shear 
force acting in a fluid element 

2. the individual molecules of a 
fluid element are not in motion 

3. the ilu id can be ASsu med to be 
a rigid body 

Select the correct nnswcr using th~ 
code given below. 

(a) I, 2 and 3 

(b} I and 2 only 

(c) 2 and 3 only 

(d/ I and 3 only 

17. A planet with mass equal to eight 
times the mass of the Earth, has 
the same average density as the 
Earth. With g being the gravita­
t iona l acceleration on the s urface 
of the Earth, the gravitational 
acceleration on the surface of the 
planet is 

{a) 8g 

(b) 4g 

(c) .J8g 

(d/ 2g 

18. The pitch of a screw gauge is 
0·5 mm. Its head scale con tains 
50 d ivisions. The l~nst coun t of the 
screw gauge is 

(a) 0·000 I ern 

{b) 0·0025 em 

(c) 0·01 em 

(d) 0·001 em 
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19. Water drops fall at regular intervals 
from a tap which is 5 m above the 
ground. The third drop leaves the 
tap a t the instant the first drop 
touches the ground. How far above 
the ground is the second d rop at 
that instan t? 

20. 

(a] 2·5 m 

(b) 3·75 m 

(c} 4·0 m 

(d) !·25m 

A body is acted upon by a force 
proportional to square of distance 
co,·ered. If the dtstance covered is 

denoted by x, then work done by 
the force will be proportional to 

2 1. If the internal energy of an ideal gas 
decreases by the same amount as 
the work done by the system, then 
which of the followmg is/are 
correct? 

l 

2. 

The process must be adiabatic . 

The process must be 
isothermal. 

3. The temperature of t he gas 
must decrease. 

Select the correct answer using the 
code given below. 

(a) l only 

fb) and 3 

(c) 2 

!d) 3 only 

P- TS13-N-QIT / 43A 5 

22. Whtch one of the followmg quantities 
is zero on an average for the 
molecules of an tdeal gas in 
equ ilibrium? 

23. 

{a) Kinetic energy 

(b} Density 

(c} Speed 

(d) None of the above 

A sample of gas wi th y a 1·5 is taken 
through an adiabatic process in 
which the volume is compressed 
from 1600 cm 3 to 400 cm3. If the 
initial pressure is 150 kPa. the; the 
work done in the process is 

{a) - 120 J 

(b) + 120 J 

(c) - 480 J 

{d) ... 480 J 

24. The root-mean-square speed a nd 
average ki netic energy of the 
molecules of an ideal gas at 
absolu te tempera! ure T art' 
respectively proportional to 

{a) T and r-t 

(b) .ff and T 

(c) T and 7'2 

(d) r -1 and T 

I P.T.O. 
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25. A copper rod is joined to a steel rod 
in series. The rods have equal 
length and equal cross-sectional 
area . The free end of copper rod is 
kept at 0 •c and that of steel rod 
is kept at 100 •c. If the thermal 
conductivity of copper is eight times 
that of steel, what is the 
temperature {approximate) at the 
junction of the rods? 

{a) so •c 

(bJ 26 ·c 

(c) 21 ·c 

fdJ 1 1 ·c 

26. A beam of light traveling with speed c 
in vacuum encounters a glass 
medium at a n angle of incidence 
60•. If the speed of light an the 
medium is f3· then the o.nglc 
between the reflected and the 
refracted beams is 

{a) 30• 

(b) 60. 

(c) 90" 

{d) I 20• 

27. An object is placed 10 em from a 
lens. The size of the image is same 
as the size of the object. The power 
of the lens should be 

{a) + 20 D 

{b) - 20 D 

(c) + 10 D 

(d) - 10 D 

P-TSB-N- QIT/43A 6 

28. If the eye sees two objects located at 
different distances, then which one 
of the following does not change:> 

29. 

{a) The radius of curvature of the 
eye lens 

{b) The object distance from the 
eye lens 

{c) The image dtstanoe from the 
eye lens 

(d) The focal length of the eye lens 

A monochromatic beam of light of 
wavelength >. and frequency ,. goes 
from vacuum to a medium of 
refractive index 11. How do the 
wavelength and frequency of light 
change? 

(a) Wavelength becomes A and n 

frequency becomes nv 

(b) Wavelength becomes rv, and 
frequency becomes 7; 

(c) Wavelength and frequency do 
not change 

(d) Wavelength becomes ! and 

frequency does not change 

30. A concave mirror of foCIII length f 
produces a real image 11 times rhe 
size of the object. The d istance of 
the object from the mirror is 

{a) (11 - 1)/ 

{b) (11 + J)f 

(c) (n + l)f In 

(d) (n - 1)/ /n 
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3 1 . The optical power of a lens is 2·5 D . 
For a certain position of an object 
relative to the lens, a real doubly 
magnified image is formed on a 
screen. The object is now moved 
0·1 m closer to the lens. What wiU 
be the magnification? 

(a) 8 

(b) 4 

(c) 2 

(d) 1 

32. A glass tube 1·0 m length is filled 
with water. The water can be 
drained out slowly at the bottom of 
the tube. If a vibrating tuning fork 
of frequency 500 Hz is brought at 
the upper end of the tube, then 
what is the total number of 
resonances obtained? (Velocity of 
sound is 300 m s - 1) 

(a) 

(b) 2 

(c} 3 

(d} 4 

33. A sample of oxygen at NTP has a 
volume V and a sample of hydrogen 
at NTP has a volume 4V. Both the 
gases are mixed and the mixture is 
maintained at NTP. If the velocity 
of sound in hydrogen at NTP is 
1270 rn/s. then the velocity of 
sound in the mixture will be 

(a} 317·5 m/s 

(b) 635 m/s 

(c} 830 m/s 

(d) 950 m/s 

P- TSB-N-QIT/43A 7 

34. An observer standing on the sea· 
coast finds that 48 ripples reach 
the surface per mmute. If the 
wavelength of the ripples is 8 m, 
then the wave velocity is 

(a) 4·8 m/s 

(b) 6·4 m/s 

(c) 8·4 m/s 

(d) 12·4 m/s 

35. A light ray is incident on a surface 
with angle of incidence 60•. The 
angle between the incident ray and 
the refracted ray is I s•. What is the 
refractive index (approximate) of the 
medium? 

(a) 1 ·225 

(b) 1·33 

(c) 1·5 

(d) 1·732 

36. A cell of steady c.m.f. 2·5 V and 
in ternal resistance of 0·5 Q delivers 
a current of 1·0 A to an external 
circuiL The useful work done per 
second is 

(a} 2·5 J 

(b) 2·0 J 

(c) 3·0 J 

(d) 0·5 J 

[ P.T.O. 
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37. A free proton and a free electron are 
placed in a uniform electric field. 
Which of the following statements 
are correct? 

1. The magnitudes of electric 
forces acting on them will be 
equal. 

2 . Their accelerations will be 
different. 

3. They will move in the same 
direct ion. 

Select the correct answer using the 
code given below. 

(a) I and 2 only 

(b) 2 and 3 only 

(c) I and 3 only 

(dJ I, 2 and 3 

38. When the separation between the 
charges is increased, the electric 
potential energy of the charges 

(a/ increases 

(b) decreases 

(c) remains the same 

(d} may increase or decrease 

39. The number of electrons to be 
removed from a metal surface to 
make it positive having posit.ive 
charge I·Ox 10-7 C will be 

(a) 625xto9 

(b) 625 X 1010 

(c} 625 x 1011 

(d) 625x 1012 

P- T$8- N-QJT / 43A 8 

40. A u niform electric field I 0 N c-1 

exists in the vertically downward 

direction. What is the increase in 
the electric potential as one goes up 

through a height of 50 em? 

(a) 50 V 

{b} 10 v 

(c) 5 V 

(d) 1 v 

41. Consider the following statements : 

If a charged 
experiences no 
force, then 

particle at rest 
electromagnetic 

1. the electric field must be zero 

2. the magnetic field must be zero 

3. the electric field may or may 
not be zero 

4. the magnetic field may or may 
not be zero 

Select t he correct answer using the 
code given below. 

(a) 1 and 4 

(b) 1 only 

(c) I and 2 

{d} 2 and 3 
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42. A metal wire loop is put in a uniform 
magnetic field and the plane of 
the loop is perpendicular to the 
magnetic field. An e.m.f. will be 
induced in the loop if 

(a) it moves in its plane 

(b) it is rotated about its axis 

(c) it is ro tated abOLit its diameter 

(d) it moves along the direction of 
the field 

43 . A copper rod of length 20 em and 
cross-sectiona l area 2 nun 2 is 
joined with a similar aluminium 
rod in series. What is the total 
resistance of the combination 
between the ends? (Resistivity of 
copper is 1-7 x 10-6 Q em and that 

of aluminiu m is 2 ·6x 10-6 Q em) 

(a) 4·3 x Io- 3 Q 

(b) 3-3x I0-3 o 

(c) 2 I X 10-l Q 

(d} 1·3xi0-3 Q 

P-TSB-N-QIT/4 3 A 9 

44. A steady d .c. current is flowing 
through a cylindrical conductor. 
Which of the following statements 
is/are correct? 

I. The electric field at the axis of 
the conductor i~ zero. 

2. The magnetic field at the ax.is 
of the conductor is zero. 

Select t he correct answer using the 
code given below. 

(a) I only 

(b) 2 only 

(c) Both I and 2 

(d) Neither I nor 2 

4 15. B 

A 

Three identical long solenoids A, B 
and C are connected as shown in 
the figu re above. The magnetic field 
due to current flow is 2 ·0 T at the 
centre of solenoid A What is the 
magnetic field at the centre of 
solenoid C? 

(a) 2·0 T 

(b) 1·0 T 

(c) 0·5 T 

{d) 4·0 T 

[ P.T.O. 
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46. 

A rectangular loop carrying a 
current i is situated near a long 
straight wire such that the wire is 
parallel to one of the sides of the 
loop and is in the plane of the loop. 
If a steady current I is established 
in the wire as shown in the figure 
above, then the loop will 

(a} rotate about an axis parallel to 
the wire 

(b) move away from the wire 

(c} move towards tJ1e wire 

(d} remain stationary 

47. Current flows through a thick long 
straight wire such that the current 
density is uniform over the cross­
section of the wire. The magnetic 
induction 8 inside the wire at a 
distance r from the axis is 

(a) proportional to r 

(b} inversely proportional to r 

(cj inversely proportional to ,2 

(d) uniform throughout the cross­
sect ion of the wire 

P- TSB- N- QIT/43A 10 

48. A magnetic needle lying parallel to 
the magnetic field requires W units 
of work to turn through 60•. The 
torque required to maintam the 
needle in this positlon is 

(a} ./3W 

(b) w /2 

(c) J3W/2 

(d) None of the above 

49. What is the work done in carrying a 
charge q around a complete circle of 
radius r with charge Q at the 
centre? 

so. 

(a) qQ ( 1 ) 
4nE0 2nr 

(b) qQ ( 1) 
4nt 0 nr 

(d) 0 

Consider three charges q, - q, q (in 
SJ units) at the vertices of an 
equilateral triangle with side length 
b. The magnitude of electric field at 
the centroid of the triangle is 

, 3q 

(d) 0 
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51. A 400 turns primaty coil of an ideal 
transformer is connected to an 
alternating current power line 
of 120 V. A secondary coil of 
100 turns is connected tO a light 
bulb oi 60 Q resistance. The 
ma.-.;imum current in the secondary 
would be 

{OJ 2 A 

ICJ 0·5 A 

(d, 0·25 A 

52. Two long wi res each parallel to the 
z. a.-.;is and each carrying curren t I, 
a re at (0, 0 , 0) and (a, b, 0). What is 
the force per unit length of each 
wire? 

(c) 

(d) None of the above 

P- TSB- N- QlT/43A 11 

53. A heating coil transforms I 00 J of 
electric energy into heat energy per 
second. The coil is cut into two 

halves and the two halves are 
joined in para llel to the same 
source. Now the energy transformed 
per second w ill be 

(aJ 25 J 

(b) 50 J 

(c) 100 J 

(d) 400 J 

54. In resistance box, the wi re is doubled 
before winding to 

(aJ save space 

(bi avoid induction 

(c) avoid heating 

(d) decrease the cnst 

55. Two free charges +Q and +4Q a re 
placed at a distance x apart . The 
magnitude of thi rd charge w hich 
makes the system in equ ilibrium is 

{aJ 9Q /4 

{b) 9 Q 

(c) 4Q / 9 

(d) 4 Q 

[ P.T.O. 
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56 . A free neutron decays to a proton but 
a free proton does not decay to a 
neutron. This 1S because 

(a) neutron is a composite particle 
made of proton and electron 
whereas proton is a funda ­
mental particle 

(b/ neutron is an uncharged 
particle whereas proton is a 
charged panicle 

(cJ neutron has larger res1 mass 
than proton 

(d) None of the above 

57. The K" a:1d K~ X-rays of 
molybdenum have wavelengths 
0·71 A and 0·63 A respectively. 
Then the wavelength of L., of 
molybdenum will be 

(a} 0·66 A 

(b) O·SS A 

(cJ 5·59 A 

(d} !OSSA 

P-TSB-N-QIT / 43A 12 

58. In a laboratory experiment on 
emission from atomic hydrogen in a 
discharge tube, only a small 
number of lines are observed 
whereas a large number of hnes are 
present in the spectrum of a star. 
This is because in n labora tory 

(a) t he amoun t of hyd rogen ta ken 
is much smaller 1 h~n that 
present in the s tar 

{b) the temperature of hydrogen is 
much smaller than that of star 

{c) the pressure of hydrogen is 
much smaller than that of star 

(d } the gravitational pull is much 
smatter than that in the star 

59. The cutoff 1\'avclength of X· rays 
coming from an X-ray tube depends 
on the 

(a) filamen t materiul 

{b) accelera tion voltage 

(cJ target material 

{d) temperature of the filament 

60. Consider the ulpha 
212 Bi .... 20<\n + 4He. 

decay 
Taking 

of 

the 
binding energy per nucleon to be 

approximately 8·00 MeV per 

nucleon for Bi, 8·05 MeV per 
nucleon for Tl and 7·1 MeV per 

nu cleon for He, the ener[{Y released 
in t he decay of one nucleus is 
a pproximately 

{a) 6·8 MeV 

{b) 3·6 MeV 

{c) 10·4 MeV 

(d) 14·0 MeV 
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6 1. The kinetic energy of an electron 
emitted when green light of wave­
length 500 nm shines on sodium 
metal (work function • 2·3 eV) is 
!Planck's constant~ 6·6 x 10"34 J sl 

(a} 0 ·0175 eV 

(b) 0·!75 eV 

ICI 1·75 eV 

(d/ l 7 ·5 eV 

62. The ~~ansition from ni s 6 to n 1 = 2 
sta:e :!1 a hydrogen atom shows an 
em•ss,on in the region of the 
electromagnetic speclrum known as 

fa, microwave 

lbt infrared 

ICt \'!Sible 

1d,1 uhraviolet 

64. The correct order of ionization 
enthalpies is 

(a} 0 < N < B < Be < Li 

(b) Li < Be < B < N < 0 

(c) Li < B < Be < 0 < N 

(d) Li < B < Be < N < 0 

65. In the nuclear reaction 

the number of a and ~ particles 
emitted are 

(a} Ba, 8(} (b) 6Ct. 4Jl 

(c) 4CL, 3Jl (d) Bet, 6~ 

66. Cons ider the following statements in 
respect of internal energy (U), 

pressure (P) and tempera ture (T) : 

I. U, P, Tare intensive variables. 

2 . U. P, T are state functions. 

3. U, P, T do not change during 
a reversible isothermal expan­
s ion of an ideal gas. 

4. U, P. T do not change during 
63. The correct order for the number of a reversible isothermal expan· 

radial nodes is sion of a real gas. 

/OJ 4s > Sd > 3p > 3d 

fbi 3p > 3d > 4s > Sd 

/c) 5d > 4 s > 3d > 3p 

ldJ 4s > 3p > 3d > Sd 

P- TSB-N-QIT/43A 13 

How many statements are correct? 

(a) Only one 

(b) Only two 

(c) Only t h ree 

(dJ All 

I P.T.O. 
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67. Which one of the following is not 
correct regarding isothermal 
expansion of an ideal gas? 

(a) The work done reversibly is 
maximum 

{b) The heat exchanged reversibly 
is 1naximum 

(c) The work done is equal to the 
heat exchangl!d for a reversible 
process 

(d) The work done is not equal to 
the heat exchanged for an 
irreversible process 

68. What is the equilibr ium expression 
for the reaction 

P- TSB-N- QIT / 4 3A 14 

69. Consider the reaction 

Which one of the following does not 
shift the equil ib rium to the right? 

(a} Increasing the pH 

(b) Removal of li • ions 

(c) Increasing the pressure 

{d) Removal of ZnS(s) 

70. Which concentration(s) can be 
calculated if the mole fraction and 
density of an aqueous solution of 
HCI are known? 

I. Molality 

2. Molarity 

3. Percent by mass 

Select the correct a nswer using the 
code given below. 

(a} I only 

(b) 3 only 

(c) 1 and 2 only 

(rl} 1. ?. Anrl :'1 
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71. The temperature in cold countries 
can go down to - 10 'C. Ethylene 
glycol is usually added to water as 
an antifreeze agent. The amount of 
HOCH2 CH20H that must be added 
so that the water in the car radiator 
(I ·86 kg) does not freeze is 
(cryoscopic constant of water 
K 1 = 1·86 K kg mol - 1) 

(a) 6·2 g 

(b) 62 g 

(c) 620 g 

(d) 6200 g 

72. The enthalpies of formation of ethyl-
ene and ethane a re 52·3 kJ mol - 1 

and - 84·6 kJ mol ' 1 respectively. 
The :J./-f' for the reaction 

C 2H4 (g) + H2 (g)-) C2H6 (g) 

10 kJ mol - 1 is 

(a) - 32·3 

(bj - 136·9 

(c) 32·3 

{d) ! 36·9 

73. In which pair does the named 
substance have the same oxidation 
number? 

{aJ Sulphur in H2S2 0 7 and 
H2S04 

(b) Mercury in Hg2+ and Hg;+ 

(d) Cobalt in Co(NH )3 + . 3 6 and 

P~TSB-N-QIT/43A 15 

74. The half-life of 14 C is 5570 years. 
How many years {approximate) will 
it take for 90% of a sample to 
decompose? (log10 2 = 0·3) 

(a) 5570 years 

(b) 11140 years 

(c) !8600 years 

{d) 50 100 years 

75. Consider the following statements in 
respect of covalent compounds : 

1. They are bad conductors of 
electricity. 

2 . They are all liquids at room 
temperature. 

3. They do not show isomerism. 

Which of the statements given 
above is/ are correct? 

{a) only 

(b) 1 and 2 

(c) 1 and 3 

(d) 2 only 

[ P.T.O. 

evid
ya

rth
i.in

Educational Material Downloaded from http://www.evidyarthi.in/ 
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



76. Consider the following ions 

1. NW 2 

2. ct -

3. Cl04 

4. cH3coo-

What is the correct o rder of basic 
strength of the above ions? 

{a} 4 > I > 2 > 3 

{b) 4 > 3 > I > 2 

{c) >4>2>3 

(d) > 4 > 3 > 2 

77. Consider the following statements in 
respect of first-order chemical 
reactions : 

1. Half-life period for :1 first-order 
reaction is independent of 
initial concentration. 

2 . The unit of rate constant of a 
first-order reaction is sec -l 

3. The value of rate constant can 
be changed by changing the 
concentration unit. 

4 . The concentration of the 
reactants of a first -order 
reaction decreases linearly 
with time. 

Which of the above statements are 
correct? 

(a} 2 and 3 

(b) 3 and 4 

(c) 1 and 4 

(d) and 2 

P-TSB-N-QIT /43A 16 

78. When sodium is dissolved in liquid 
ammonia, a solution of deep blue 
colour is obtained. The colour of the 
solution is due to 

(a} sodium ion 

(b) ammoniated electron 

(c) sodium amide 

(d) ammoniated sodium ion 

79. The ionization constant of aoeuc acid 
is Ka = 1 o-s a t standard ambient 

temperature . The pH of a solution 
of 0 ·0 I M acetic acid a nd 0· 1 M 

sodium acetate is 

(a} 4 

(b) 5 

(c) 6 

(d) 7 

80. A reaction obeys first-order kinetics. 
It takes I hour for the reactant to 
d ecay to one-eighth of its starting 
concentration. To decay to one­
fourth of its starting concentration, 
it takes 

(a) IO mmutes 

(b) 20 minutes 

(c) 30 minutes 

(dj 40 minutes 
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8 1. Which one among the following is the 
correct structure of H3o•? 

(a) T -shaped 

{b) Bent shape 

{c) Trigonal planar 

(d) Trigonal pyramidal 

82. A sample of water contains 12 mg of 
MgS04 (molecular weight = 120) per 
.kg of water. The degree of hardness 
for this sample is 

{a) 1·0 ppm 

(b) 5·0 ppm 

(c) 10·0 ppm 

{d} 100·0 ppm 

83. Consider the following statements for 
heavy water : 

I. Pure heavy water is 
radioactive. 

2. It is used as neutron 
moderator in nuclear fission 
reaction. 

3. It is used as solvent in NMR 
spectroscopy. 

4. Density of heavy water is less 
than that of ordinary water. 

Which of the statements given 
above are correct? 

{a) l and 2 only 

{b) l, 2, 3 and 4 

{c} I , 3 and 4 only 

{d) 2 and 3 only 

P-TSB-N-QIT/43A 17 

84 . Milk of magnesia contains 

(a} MgC0 3 

{d) Mg(OH)2 

85. Which one of the 
compounds is having 
3-centered bond? 

(c) BH;j 

followin g 
2·electron 

86 . What will be the pH range of an 
aqueous solution of borax? 

{a) pH> 7 

(b) pH < 7 

{c) pH= 7 

(dJ pHs 7 

I P.T.O. 
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87. Consider the following statements 

1 . Talc is magnesium silicate. 

2. Lead shows allotropy. 

3. Producer gas is a mixture of 
CO and 0 2 . 

Which of the statements given 
above is/are correct? 

(a) 1, 2 and 3 

{b) and 3 only 

(c) 1 only 

(d) 2 and 3 only 

88. Consider the follo .... ing statements : 

Statement I : 

The dipole moment 
greater than NF3. 

Statement II : 

of NH3 is 

The electronegativity difference 
between nitrogen and fluorine is 
almost same as that between 
nitrogen and hydrogen. 

Which one of the following in 
respect of the above statements is 
correct? 

(a) Both the s tatements are 
correct and Statement II is 
the correct explanation for 
Statement l 

(b) Both the statements are 
correct but Statement II is not 
the correct explanation for 
Statement I 

(c) Stat em em l is correct but 
Statement !I is incorrect 

(d) Statement I is incorrect but 
Statement II is correct 

P- TSB-N-QIT/43A 18 

89. What is the correct order of 0-N-Q 

bond angles in the compounds 
N02, No; . N02 ? 

{b) N02 > NOi > N02 

90. In Ostwald's process of manu· 
facturing of HI'0 3 , what are the 
two major nitrogen oxides formed 
in intermediate steps? 

(c) NO, N02 
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91. Conside r the following statements 

Staremem I : 

The S- 0 bond distance in S02 is 
intermediate between a single 
bond and a double bond. 

Statement II : 

The actual structure of S02 is a 
resonance hybrid of multiple 
canonical forms. 

Which one of the following in 
respect of the above statements is 
correct? 

(a) Both the statements are 
correct and Statement n is 

the correct explanation for 
Statement I 

fb) Both the statements are 
correct but Statement II is not 
the correct explanation for 
Statement I 

{c) Statement 1 is correct but 
Statement II is incorrect 

(d) Statement 1 is incorrect but 
Stateme.nt II is correct 

92. A compound contains 28% of 
nitrogen and 72% of a metaL Three 
atoms of the metal combine with 
two atoms of nitr()gen. The 
approximate atomic weight of the 
metal is 

(a} 12 

(b} 24 

(c} 36 

(d) 48 

P- TSB- N- QIT/43A 19 

93. In the cyanide process of extraction 
of silver, the ore gives the extract 
containing 

{a} silver hydroxide 

{b) diamine silver(!) chloride 

{c) silver cyanide 

(d) None of the above 

94. Which one of t he following metals is 
extracted through electrolysis? 

(a) Silver 

(b) Iron 

{c) Zinc 

{d) Aluminium 

95. The metal ion present in vitamin B12 
is 

{a) Cu 

{b) Mg 

{c) Co 

(d) Fe 

I P.T.O. 
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96. One of the bivalent metals of 
Group !lA forms a soluble sulphate 
a nd an insoluble hydroxide. But its 
hydroxide is solu ble in solutions of 
s trong alkalies. The metal is 

(a) Ba 

(b) Ca 

(c) Mg 

(d) Be 

97. PbCl 0 produces a yellow precipitate, 
when it is added to a solution of 
K2Cr04 . But when PbC1 2 is added 
to moderately concentrated HCl and 
the mixture is cooled 

(a) no precipitate is formed 

(b) white precipitate is formed 

(c) yellow precipitate is formed 

(d) light grey precipitate is formed 

98. The oxide which is solid at room 
tern perature is 

(a} N2 0 

(b) Br20 

(c) Cl 20 

(d) Se02 

P- TSB-N- QIT/43A 20 

99. The purpose of making alloys is to 

J . increase the hardness of the 
metal 

2. enhance tensile strength 

3. increase corrosion resis tancc 

Select the correct answer using the 
code given below. 

(a) 1, 2 and 3 

(/:J} l only 

(c) 2 and 3 only 

(d) 2 only 

100. Which one of t he following is used 
for drying of ammonia? 

(b) CaO 

(d) Oleum 

evid
ya

rth
i.in

Educational Material Downloaded from http://www.evidyarthi.in/ 
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



101. In which one of tht> following 
Nmpounds. h::d roxyl p-oup os 
nttached to 3 ,·inyl carbon :\tom? 

(a! CH~=CH-CH2-0H 

lbJ CH3-CH=CH-OH 

CH3 
I 

/c) CH2=CH- T- OH 

CH3 

(d) CH2=CH-CH-OH 
I 
CH3 

102. Consider the following coonpoundll : 
OH H H 

H '''"· ~ H3C '""·l__ Hs<..'2111,,.l__ 
C H~ CHl C H~ OH CH ~ Oil 

2 $ 2 ~ ·' 

II Ill 

Which one of the following is t:Oro-~ct 

in respect of the above compounds? 

(a) and II are cna11tiomers 

(b) and Ill are enantiomers 

(CJ !I and Ill are identical 

(d) I and Ill are identical 

103. Consider the following compounds: 

60o 
[I Jll 

Which of the above compounds wiU 
react with bromine water to give 
tribromo substitution prod~o ct? 

(a) I and Ill 

(b) II only 

(c} I and !I 

(d) Ill only 

P-TSB-N-QIT / 43A 21 

104. Consider the following reaction : 

0 181 

What is the major product I B) of 
the reaction? 

(a) 

(b/ 

(cJ 

CC
OH 

OH 

ceo 

0 

eCHO 

CHO 

105. Which one of the following is not 
correct in respect of aromatic and 
aliphatic compounds? 

(a} Aliphatic amines are less basic 
than aromatic amines 

(b) Alcohols are neutral while 
phenols are acidic in nature 

(c) Aliphatic compounds are 
generally poorer in carbon 
content than the aromatic ones 

(dj Aliphatic compounds 
open-chain structures 
aromatic compounds 
closed-chain structures 

have 
while 

are 

[ P.T .O. 
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106. The major product of the following 
reaction 

is 

(a) u:i' 
(b) v 
(c) v 
(d) ~l. 

107. Consider the following reaction : 

For carrying out the above reaction, 
which condition should be used? 

(a} Cone. HN03 + cone. H2S04 
+ heat 

(c) Dilute HN03 

(d) Cone. HN03 only 

P- TSB- N- QIT/ 43A 22 

108. Consider the following compounds : 

c5 0" 6 
II It1 

Which of the above compounds 
will react with sodium hydroxide 
solution at room temperature? 

(a) I, II and III 

(b) II and HI only 

(c) III only 

(d) I and lJl only 

109. Consider the following statements in 
respect of the reaction 

Br- + R-CH2-0H2 ~ Br- CHz-R + H20 

I. Br- is a 
protonated 
electrophile. 

nucleophile and 
alcohol is an 

2. It is nucleophilic displacement 
of water from protonated 
a lcohol by Br- nucleophile. 

Which of the statements given 
above is/are correct? 

(a} I only 

(b) 2 only 

(c) Both l and 2 

(d) Neither I nor 2 
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110. Consider the following statements in 
respect of the reaction 

111. 

Alcohol 

I. It is a nucleoph ilic substitu· 
tion. 

2. 

3. 

It is a two-step reaction. 

The ra te of the reaction 
on the 
the alkyl 

depends only 
concentration of 
halide. 

4 . It is an S N 2 reaction. 

5. Carbocation intermedia te is 
formed in this reaction. 

Which of the above statements are 
correct? 

(a) 1, 2, 3 and 5 

(b) 1, 2 and 5 only 

(c) 3 and 4 only 

(d) 2, 3 and 4 

Consider the following alcohols 

CH3 
I 

CH3-c- OH 
I 
CH3 

[[! 

On treating these with concentrated 
sulphuric acid at 413 K, which of 
the above will give the corres· 
pending ether? 

(a) 1, II and IH 

(bl l and n only 

{c) I only 

{d) n and lii only 

P- TSB-N-QJT /43A 23 

112. Consider the following reaction 

-
P_d_C_J1::.:,_c_u_C_J.::.2 7 !l' I CH3=CH2 

H20 ,02 

What is the major product IYJ in the 
above reaction? 

(a) CH3CHO 

(b) CH3 C02H 

(c) CH=:CH 

(d) CH3 CH20H 

113. Benzoyl chloride can be converted to 
benzaldehyde by treatment with 

(a) H 2 /Pd- BaS04 

(b) Zn(Hg)/HCI 

(c) DIBAL-H 

(d) Nafliq. NH3 

114. Direct nitration of aniline by using 
HN0 3 / H2SO'l at 288 K gives 

(a) a mixture of ortho-, meta- and 
para·nitroaniline 

(b) a mixture of ortho- and para· 
nitroaniline only 

(c) a mixture of meta· and para-
nitroaniline only 

(d) a mixture of rneta- and ortho-
nitroaniline only 

115. Which one of the following is a 
polyamide? 

(a) Teflon 

(b) Polyes ter 

(c) Polythene 

(d) Nylon 

( P.T.O. 
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1 16 . Which one of the following is water 
soluble? 

(a} Cellulose 

{b) Cholesterol 

(c) Vitamin D 

(d) Insulin 

117. The major product of the followinJt 
reaction 

o- (ll NaNO,. HCI 
NH2 > 

(2) NaOH, PhOII 

is 

(a} oN=f\-o-OH 

(b) oN=N-0-0 
,(YO~ 

(c) V V 

(d} 

118. Addition of Br2 to l ·pentenc would 
produce 1, 2-dibromopentane whirl: 
is 

{a) meso 

(b) achiral 

(c) optically active 

(d} racemic 

P- TSB-N- QIT/43A 24 

119. The major product of the following 
re-:lCtJon 

0 
M Ill r.x~r.s McMgBr 

CH ; -C" -OC2H5 

is 

OH 
I 

(:!) OJ! HCI 

(a} CH3-y-CH3 

CH3 

Of( 

(,·; CH3 T CH3 

H 

{dJ None of the above 

120. Whtch one <'f th~ following has 
peptide linkage'> 

(."" H2N-cHr-CONH-<fli- COOH 

Cli3 

(C. 
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SPACE FOR ROUGH WORK 
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